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1) TRADE THEORY

Question No. 1/ Question ID 367
What is the type of wattmeter as shown in the figure?

2 & ST 77U qreHie & YHR R 872

(A) O Three element 3 phase wattmeter

T 319Td 3 IO dlcHIe

(B) O Three element 4 wire wattmeter

dF 3190d 4 dR dIcHe

&l 3[9Uq 3 HAT dIeHIex (Correct Alternative)

(C) O Two element 3 phase wattmeter (Correct Alternative)

(D) O Three phase two element with C.T & P.T (Chosen Option)
<9 TRUT 1 3/99d C.T & P.T & U1 (Chosen Option)

Marks: 2.00

Question No. 2 / Question ID 360
How to identify the moving iron type instrument?
I Ag UPR b IUBRU] bl UG Hd BHe?

Marks: 2.00




(A) O Terminal marked (+) and (-)
fafed (+) 8k ()
(B) O Terminal marked (+) only
Fad ffed (+) RR
(C) O No terminal marking (Correct Alternative)
ﬁé RrT 3ipq T-Iﬁ (Correct Alternative)
(D) O One terminal coloured red (Chosen Option)
ATel ¥ &1 Teh RIRT (Chosen Option)

Question No. 3 / Question ID 15 Marks: 2.00
What is the name of the tool as shown in the figure?

o # feRaTy 10 IUHRUT BT 71H 1 82

(A) O Tack hammer
& TR

(B) O Claw hammer
ESIEEN

(C) O Ball pein hammer (Correct Alternative) (Chosen Option)
@ UiE| %'FR' (Correct Alternative) (Chosen Option)

(D) O Cross pein hammer

P19 U R

Question No. 4 / Question ID 309 Marks: 2.00
Where the pipe jumper is used in the wiring?
o UISU SR &1 IUART gl [dhaT Sifdl g7
(A) O To make through holes on the wall (Correct Alternative)
W @T:{ dATAT (Correct Alternative)

(B) O To make holes on wooden board (Chosen Option)

Flﬁ & T R BE IR B fa (Chosen Option)
(C) O To chip the wall for fixing switch boxes

a9 e e & g dlaR IR fog &

(D) O To make pilot holes on the wall for fixing accessories

TR &l fhe] ® & ol laR R Urdce ©¢ M ]

Question No. 5/ Question ID 112 Marks: 2.00
Which method is used for measuring 1 Ohm to 1 megohm range resistance?

1 3 q 1 ATEIH XS UfaRiy 1 A19= & fore forg fafy o1 Uz fopam Siran 82




(A) O Substitution method
gfcrTo fafg

(B) O Kelvin bridge method
Dicd fore fafe

(C) O Voltmeter and ammeter method (Chosen Option)

JreeHiex 3R wHteR fafy (Chosen Option)

(D) O Wheat stone bridge method (Correct Alternative)

forer fafer (Correct Alternative)

Question No. 6 / Question ID 390

Which material is used to make the heating element of cooking range?

HIHTT IS BT gifeT dcd §911 & g ooy wreht &1 I foran S 872

(A) O Copper
GIEI
(B) © Aluminium (Chosen Option)
&r?ﬂTﬁﬁﬂﬂ (Chosen Option)
(C) O Nichrome (Correct Alternative)
(Correct Alternative)
(D) O Silver

Marks: 2.00

Question No. 7 / Question ID 219
Which is used as a top layer of a solar cell?

AR A o1 MY IR & =Y § g IuT fHar S1dr 872
(A) O Aluminium

(B) O Silver (Chosen Option)
rd! (Chosen Option)
(C) O Silicon (Correct Alternative)
T (Correct Alternative)
(D) O Copper
GIEL

Marks: 2.00

Question No. 8 / Question ID 410

What is the purpose of the explosion vent in a power transformer?

TR SRIHIER H fawhie de &1 I53g 1 82

(A) O Pressure releasing (Correct Alternative) (Chosen Option)
qdld &l IToiT (Correct Alternative) (Chosen Option)

(B) O Moisture releasing
Tt BT IO

(C) O Heat releasing
g BT IS

(D) O Airreleasing
G BT I

Marks: 2.00

Question No. 9 / Question ID 341

What is the current carrying capacity of flasher, if the current is 100 mA in each row?

TR Pt gaH a8 &Hd 37 8, afe Ude Ufdd H e 100 mA 8?2

Marks: 2.00




(A) O 100 mA
100 mA

(B) O 200 mA (Chosen Option)
200 mA (Chosen Option)

(C) O 300 mA (Correct Alternative)
300 mA (Correct Alternative)

(D) O 50 mA
50 mA

Question No. 10 / Question ID 113
What is the purpose of the shunt resistor ‘R,’ used in series type Ohm meter circuit?

I JHR 31 Hiex Fiche & Ugad e UfRIU® ‘R, BT 3530 1 82

Marks: 2.00




1 -
— A
Ry
UINEMOWN
R Q:) M Rz\HJ Ry H RESISTOR
|,E 2
k @ B
SERIES TYPE OHMMETER 5
1 n
— A
Ry
UNENCWN
R (/‘ M Ra Ry H RESISTOR
P 2 5
SERIES TYPE OHMMETER 5

(A) O To limit the current in the circuit
Hfdhe ® Pee &I Hiffrd A & forg

(B) O To prevent the excess current in the circuit (Chosen Option)
Hidhe # 3Afde ®ic ®I A & AT (Chosen Option)

(C) O Toincrease the value of meter resistance

ez UfoRiYy &1 A 9 & oy

D) O To adjust the zero position of the pointer (Correct Alternative)

Uiser @t I RUTT & guTASTa w1 & T (Correct Alternative)

Question No. 11 / Question ID 34 Marks: 2.00
Which type of soldering flux is used for soldering aluminium conductors?
THIH Heaex] ! Utex B & [AY [ UHR & Aes T TR &1 SUINT foa ST 872
(A) O Tallow
car
(B) O Zinc chloride
ISEICSINES]
(C) O Sal ammonia
Te S
(D) O Kynal flux (Correct Alternative) (Chosen Option)
DI YT (Correct Alternative) (Chosen Option)

Question No. 12 / Question ID 315 Marks: 2.00
What is the working principle of the earth resistance tester?

Y-UFRIY TI&® BT BRI Rigid 1 872
(A) O Mutual induction

(B) O Fall of potential method (Correct Alternative)
fava ura fafy (Correct Alternative)

(C) O Self induction
W IR0




(D) O Fleming’s left hand rule (Chosen Option)
TRITHTT T §TU §1Y &1 (999 (Chosen Option)

Question No. 13 / Question ID 149
Which bulb will have lowest resistance?

b9 ded &1 UfaRIYy Ja HT g2

(A) O 240V,60W
240V, 60 W

(B) O 240V, 200W
240V, 200 W

(C) O 240V, 100 W (Chosen Option)
240V, 100 W (Chosen Option)

(D) O 240V, 500 W (Correct Alternative)
240 V, 500 W (Correct Alternative)

Marks: 2.00

Question No. 14 / Question ID 327
What is the name of the lamp as shown in the figure?

o § feRame 71U o &1 A1 T g2

(A) O MAT type MV lamp
MAT J&HR MV T
(B) O HP metal halide lamp (Chosen Option)
Tyt Yrd %Fﬂ%%’ S| (Chosen Option)
(C) O MA type HPMV lamp (Correct Alternative)
MA U&TR HPMV 1Y@ (Correct Alternative)
(D) O MB type HPMV lamp
MB UHR HPMV Eiudh

Marks: 2.00

Question No. 15/ Question ID 167
What is the rated AC voltage for single phase domestic supply in India?
YR H R trot TR 3MYfef & g 1S AC diees F1 872
(A) O 440V
440 V
(B) O 415V
415V
(C) O 240V (Correct Alternative)
240 V (Correct Alternative)

(D) O 110V (Chosen Option)
110 V (Chosen Option)

Marks: 2.00

Question No. 16 / Question ID 150

Marks: 2.00




What is the formula to find the 3 phase reactive power (PR) if the line voltage is V|’ and line current is
107
g AT dieesl 'V, ' § IR A8 dxe I, ' §, A1 3 ol ufafhareia wfdd (Pr) 1A HRA &1 G 1 872
(A) O B =3V, Cost
Pr- = 31'u'rL|LGDSB
B)O B = v Cost
P =+/3V, |, CosB

(C)O Pr=V_IL
Pr=V|_ ||_

@O P = u@ﬁLILSinB (Correct Alternative) (Chosen Option)

B = u@‘aﬁLlLSinB (Correct Alternative) (Chosen Option)

Question No. 17 / Question ID 383 Marks: 2.00
What is the name of the part of electric iron as shown in the figure?

fort & feae SR faggd S & YT &1 1 A 672

(A) O Sole plate (Correct Alternative) (Chosen Option)
I W< (Correct Alternative) (Chosen Option)
(B) O Asbestos sheet
Ty giie
(C) O Pressure plate
RN
(D) O Mica insulation

3YP P

Question No. 18 / Question ID 207 Marks: 2.00
What is the Electro Chemical Equivalent (ECE) of silver?
dic &1 fagyd IS Jedidh F1 82
(A) O 0.001182 mg/coulomb
0.001182 mg/coulomb
(B) O 0.1182 mg/coulomb (Chosen Option)
0.1182 mg/coulomb (Chosen Option)
(C) O 0.01182 mg/coulomb
0.01182 mg/coulomb

(D) O 1.1182 mg/coulomb (Correct Alternative)
1.1182 mg/coulomb (Correct Alternative)

Question No. 19 / Question ID 407 Marks: 2.00
What is the name of the part in power transformer as shown in the figure?

i o o & foaman a1 § UTaR SRR & YT &1 19 31 82




(A) O Breather
EER

(B) O Tap charger

(C) O Buchholz relay (Correct Alternative)
7 a (Correct Alternative)
(D) O Explosion vent (Chosen Option)
de (Chosen Option)

Question No. 20 / Question ID 74
What is the formula to find the Electro Motive Force (EMF)?
Saag! Hifed B (EMF) JTd SR &1 G T 872
(A) O EMF = Potential difference + voltage drop (Correct Alternative)
EMF = Potential difference + voltage drop (Correct Alternative)
(B) ©O EMF = Potential difference + 2 x voltage drop
EMF = Potential difference + 2 x voltage drop
(C) O EMF = Potential difference — voltage drop (Chosen Option)
EMF = Potential difference — voltage drop (Chosen Option)
(D) O EMF = Potential difference + voltage drop/2
EMF = Potential difference + voltage drop/2

Marks: 2.00

Question No. 21 / Question ID 375
What is the function of soft iron core in a moving coil instrument?
Id Haell IUDHRUI H R AR B HIS BT ol BT g2
(A) O Strengthens the deflection force
&Y 90 DI Agd BT §
(B) O Provides meter with maximum sensitivity (Chosen Option)
e ) ff¥Hay Yaga=iadr UeH &dT § (Chosen Option)

Marks: 2.00

(C) O Provide uniform distribution of magnetic flux in air gap (Correct Alternative)

TR 1Y # a1 TIad &1 TP JHTT faav0T BT (Correct Alternative)

(D) O Controls the needle’s movement

Tifd 1 AT Brar g

Question No. 22 / Question ID 87
Which factor affects the polarity of the electromagnet?
Iy THa® B Yad1 B! S T HRS YHIIT Bl 82
(A) O Strength of current
YR DI
(B) O Length of the coil
BT B TS
(C) O Strength of the magnetic field

JIGHIY &F B Wik

Marks: 2.00




(D) O Direction of current (Correct Alternative) (Chosen Option)
RT Bt fe=m (Correct Alternative) (Chosen Option)

Question No. 23 / Question ID 287 Marks: 2.00
What is the purpose of the fuse cut out provided at the incoming power supply?
SITTA fsTett SMyfcl & UG fot T TS S &1 35%9 1 572
(A) O To protect the human beings from electric shock
difds S99 P! fasTelt o ek ¥ ST off 9o
(B) O To protect the circuit from the leakage current (Chosen Option)
gfthe P wlidol Bic F M & T (Chosen Option)
(C) O To ensure the line is not over loaded (Correct Alternative)
g '\ﬂﬁ'@'d Y & e o5 ars sifdurR T8I 8 (Correct Alternative)

(D) O To maintain the stabilised supply voltage
fRR 3Mgfd dtees §9E @ & fog

Question No. 24 / Question ID 183 Marks: 2.00
What is the main cause for very low lagging power factor in 3 phase system?
3 Tol JOTTCH H §gd H QT UTaR e o1 J HIRUT 31 872
(A) O Reactive power due to more capacitive load

31t YRl YR & HRUT ufdishariia wfdd

(B) O Reactive power due to more inductive load (Correct Alternative)
3P URP YR & HRUT Ufdfehar=iie qfad (Correct Alternative)
(C) O Due to fluctuation of voltage (Chosen Option)
dices & IAR-9GId & HRUT (Chosen Option)
(D) O True power due to resistive load

UfRIY® HR o HRUT 3Tc! Wfad

Question No. 25 / Question ID 40 Marks: 2.00

Which test is conducted to locate the faults in U.G. cables?
U.G. Hadl & BRI $I T T & [T DI 11 UR1ef0T faar it g2
(A) O Loop test (Correct Alternative) (Chosen Option)

q (53 (Correct Alternative) (Chosen Option)
(B) O Insulation resistance test

UicRTY T

(C) O Break down voltage test

b T3 dlecs
(D) O External growler test

e UTeR ¢

Question No. 26 / Question ID 237 Marks: 2.00
What is the full form of BIS?

BIS 1 JUf U F1 §




(A) O Board of Indian Standards (Chosen Option)
Board of Indian Standards (Chosen Option)

(B) O Bureau of International Standards
Bureau of International Standards

(C) O Board of International Standards
Board of International Standards

(D) O Bureau of Indian Standards (Correct Alternative)
Bureau of Indian Standards (Correct Alternative)

Question No. 27 / Question ID 429
Which transformer is used to measure high voltage?
I dleeol AU & e {5 iR rdR o1 IuanT farar Siran 82
(A) O Current transformers
PHC ¢l
(B) O Pulse transformers
e o
(C) O Potential transformers (Correct Alternative)
favg 'g’mmﬁ? (Correct Alternative)
(D) O Ignition transformers (Chosen Option)
' (Chosen Option)

~

Marks: 2.00

Question No. 28 / Question ID 242
What is the fusing factor for high rupturing capacity fuses (HRC)?
HRC WSl &g Wi T[0T &1 872
A O 1.0

1.0
B)O 1.7
1.7
(C) O 1.4 (Chosen Option)
1.4 (Chosen Option)
1.1
1.1

(Correct Alternative)
(Correct Alternative)

(D) O

Marks: 2.00

Question No. 29 / Question ID 168
What is the standard frequency of AC supply in India?
HRA H AC 3MTgfd ! AF MRy 1 82
(A) O 50 Hz (Correct Alternative)
50 Hz (Correct Alternative)
(B) O 75Hz
75 Hz
(C) O 60 Hz (Chosen Option)
60 Hz (Chosen Option)

(D) O 25Hz
25 Hz

Marks: 2.00

Question No. 30 / Question ID 84
What is the value of resistance of an open circuit?

TS ol Aiche & Uik &1 HH 31 82
(A) O Zero

LA

Marks: 2.00




(B) O Infinity (Correct Alternative)
3Ad (Correct Alternative)
(C) O Medium

(D) O Low (Chosen Option)
& H (Chosen Option)

Question No. 31 / Question ID 216 Marks: 2.00
What is the total output voltage of the circuit as shown in the figure?
ICER:| IEEIIQ HIIR v hl Do H3CUC dlecyl EP:IT%?

(A) O 4.5V (Correct Alternative)
4.5V (Correct Alternative)
(B) O 0V (Chosen Option)
0 V (Chosen Option)

(C)O 15V
1.5V

(D)O 3.0V
3.0V

Question No. 32 / Question ID 36 Marks: 2.00




What is the name of the joint as shown in the figure?

forr 7 faaTe 77U SiYS 7 I &1 52

(A) O Scarfed joint
WHhS g
(B) O Married joint (Correct Alternative)
EI'\I"EE? (Correct Alternative)
(C) O Western union joint (Chosen Option)
aﬁ?{ﬁﬂqﬂﬁ? (Chosen Option)
(D) O Britannia straight joint
foreTf=rar e Sis<

Question No. 33 / Question ID 267 Marks: 2.00
Where the flexible cords are used in the domestic installation?
IR ST | el SINGY T SUTRT &gl bl STl 82
(A) O In portable appliances (Correct Alternative) (Chosen Option)
ki (Correct Alternative) (Chosen Option)
(B) O In concealed wiring
I g% aERT |
(C) O In DB box wiring
DB s i |
(D) O In switch box wiring
g sl I 4

Question No. 34 / Question ID 127 Marks: 2.00
Which factor is determining the value of capacitance in capacitor?
GeTRE B 4TRAT &1 A ®IF 1 SR iR HRal g2
(A) O Volume of the plates
wicl BT S
(B) O Area of the plates (Correct Alternative) (Chosen Option)
wWiel &1 dTFhd (Correct Alternative) (Chosen Option)
(C) O Weight of the plates
Wil BT HR
(D) O Thicl%gss of the plates

Question No. 35/ Question ID 11 Marks: 2.00
What is the name of the drill bit as shown in the figure?

forr ¥ faramu TTw fget fore 1 99 e 82




(A) O Flatdrill bit

e fgd fae
(B) O Countersink bit

EARIANCACT
(C) O Taper shank bit (Correct Alternative)

A fae (Correct Alternative)
(D) O Straight shank bit (Chosen Option)
& fae (Chosen Option)

Question No. 36 / Question ID 159 Marks: 2.00
What is the reciprocal of reactance in an AC parallal circuit?
AC JHMIR uikay & ufafesar &1 agepd Fa1 872
(A) O Conductance (Chosen Option)
dledhdl (Chosen Option)
(B) O Susceptance (Correct Alternative)
'\"-I'\"-@? (Correct Alternative)
(C) © Admittance

(D) O Impedance

Question No. 37 / Question ID 243 Marks: 2.00
What is the name of the accessory used in electrical appliances as shown in the figure?
for 7 feamu 7Y faggd SuesRull # Ugad grid SUHRUT &I 91H o1 87

A 4

(A) O Flat connector with side entry
SIS YA & 1Y IUC AISIDh
(B) O Iron connector with direct entry (Correct Alternative)
e vaAw & 1Y ?ﬁ’s’ LUIEED (Correct Alternative)
(C) O Three pin socket
i+ O Hibe
(D) O 2 Pin socket (Chosen Option)
2 fi9 gide (Chosen Option)

Question No. 38 / Question ID 31 Marks: 2.00
How many electrons are there in the valence shell of a copper atom?

die & URATY] & HAISTebdll 1 H fba geiae 8id 87
(A O 2

2
(B)O 8

8

(C) O 18 (Chosen Option)
18 (Chosen Option)




(D) O 1 (Correct Alternative)
1 (Correct Alternative)

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 456 Marks: 2.00
What is the side of a square whose area is 625mm?2?

T T Bt Yol 1 gt et ot 625 forfi2 g2
(A) O 25 mm (Correct Alternative) (Chosen Option)
25 mm (Correct Alternative) (Chosen Option)
B) O 20 mm
20 mm
(C) O 30 mm
30 mm

D) O 15mm
15 mm

Question No. 2 / Question ID 445 Marks: 2.00
How many millimetres are there in 1 inch?
139 ¥ fvan firefidier gid 82
(A) O 25.4 mm (Correct Alternative)
25.4 mm (Correct Alternative)
B) O 2.45mm
2.45 mm
(C) O 2.54 mm (Chosen Option)
2.54 mm (Chosen Option)

(D) O 24.5mm
24.5 mm

Question No. 3 / Question ID 450 Marks: 2.00
Which metal contains iron as a major content?
0 9 forg o1 ® T Wit & U H A8l gldl 872
(A) O Ferrous metal (Correct Alternative)
dre YTq (Correct Alternative)
(B) O Bronze metal
EIERIG
(C) O Zinc (Chosen Option)
ISEY (Chosen Option)
(D) O Brass metal

urg

Question No. 4 / Question ID 444 Marks: 2.00
What denotes letter 'M' in MKS system?
MKS JUITet 7 'M' 31&R 3T <=1TdT 872




(A) O Mile
Mile
(B) O Meter (Correct Alternative) (Chosen Option)
Meter (Correct Alternative) (Chosen Option)
(C) O Micron
Micron
(D) O Millimeter
Millimeter

Question No. 5/ Question ID 442 Marks: 2.00
What are the two classifications of system of units?
P! B YOS & & YBR DI 57
(A) O Gravitational and non-gravitational (Chosen Option)
3R ﬁ?—m (Chosen Option)
(B) O Metric and International
AP 3R Fex=vAd
(C) O Fundamental and derived (Correct Alternative)
3R A (Correct Alternative)

(D) © British and Metric
3R Hifew

Question No. 6 / Question ID 443 Marks: 2.00

What are fundamental units?

STH A TR SPIFAT PH-DI 67

(A) O Length, Mass, Volume
TS, SoaHM, T

(B) O Length, Pressure, Volume
SEIERACIREIRGE

(C) O Length, Mass, Time (Correct Alternative)
|aTS, SaHT, THA (Correct Alternative)

(D) O Length, Mass, Area (Chosen Option)
TS, TOHM, 8 (Chosen Option)

3) ENGINEERING DRAWING

Question No. 1/ Question ID 474 Marks: 2.00
Identify the name of tool?
SUD U] hT [TH HE;TJI"I".?




(A) O Try square (Correct Alternative)
§¢3 @I AT (Correct Alternative)
(B) O Steelrule
I =

(C) O Feeler gauge
WIER el

(D) O Surface gauge (Chosen Option)
Hdg AU+ &1 IF (Chosen Option)

Question No. 2 / Question ID 462
Identify the conventional symbol of material?

o= A fewme U grht &% URuie Udie 1 Udl ag?

Marks: 2.00




(A) O Glass
CaE)

(B) O Water (Correct Alternative) (Chosen Option)
UIE] (Correct Alternative) (Chosen Option)

(C) O Asbestos

(D) O Concrete
3

Question No. 3/ Question ID 478
Identify the name of tool?
SYDIU] hT AMH HESTJI'-I".?

Marks: 2.00




(A) O Ring spanner
UGG

(B) O Adjustable spanner
TR 3SR

(C) O Combination spanner

(D) O Open end spanner (Correct Alternative) (Chosen Option)
s WR (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 475
|dentify the name of tool?
JUD U] hT [TH HESTJI"I".?

(A) O Ball pein hammer (Correct Alternative)
afd §IF 8 (Correct Alternative)

Marks: 2.00




(B) O Straight pein hammer
SIS

(C) O Cross pein hammer (Chosen Option)
W\Ilﬁtﬂ:f%'ﬁﬁ (Chosen Option)

(D) O Sledge hammer

Question No. 5/ Question ID 466 Marks: 2.00
Compass used to draw for___.
HH BT SUANT D1 S HRA & (o7 T ffal .
(A) O circle (Correct Alternative) (Chosen Option)
dq1 (Correct Alternative) (Chosen Option)
(B) O rectangle
Aad
(C) O square
Call
(D) O triangle
[ECaL|
Marks: 2.00

Question No. 6 / Question ID 477
|dentify the name of tool?
SYUDHIU] h [MH Hﬁidl"l".’

(A) O Ball pein hammer
Ird UH e/
(B) O Cross pein hammer

P 0 3R




(C) O Mallet (Correct Alternative) (Chosen Option)
?Iih_{‘;)f Cal 's'lﬁET (Correct Alternative) (Chosen Option)
(D) O Staright pein hammer

~

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 611 Marks: 2.00
Debit card will have how many digit numbers
Sfoe &1e o fohae sidi & G ght....... |
(A) O 16 (Correct Alternative)
16 (Correct Alternative)
(B) O 14 (Chosen Option)
14 (Chosen Option)

(C)O 18
18

(D) O 12
12

Question No. 2 / Question ID 510 Marks: 2.00
Fill in the blank with correct future tense of verb. “We to the zoo after Breakfast “
frar & gl v 1 & a1y ad =M W11 “We to the zoo after Breakfast “

(A) O are going (Chosen Option)
are going (Chosen Option)
(B) O went
went
(C) O will go (Correct Alternative)
will go (Correct Alternative)
(D) O had gone
had gone

Question No. 3 / Question ID 487 Marks: 2.00
The ability to do is
...... FA D &HAT B
(A) O Job (Correct Alternative) (Chosen Option)
PTH (Correct Alternative) (Chosen Option)
(B) O Experience
3Hd
(C) O Knowledge
sﬂ:[
(D) O Skill
CaN

Question No. 4 / Question ID 601 Marks: 2.00
Which one of these phrases is not related to a telephone call?
S8 ¥ HH-1 AR TP CAh - Hid J Taled ol 57
(A) O Call back
DI 9B
(B) O Make up (Correct Alternative) (Chosen Option)
AH3Y (Correct Alternative) (Chosen Option)
(C) O Pickup
% 3




(D) O Hold on

RIS
Question No. 5/ Question ID 689 Marks: 2.00
It is best to ask questions when asking questions.
Y I8d 99 Y IS qaY 351 g |
(A) O Sensitive (Chosen Option)
ECEERI (Chosen Option)
(B) O Rude
Y
(C) O Personal
GRIESEY

(D) O Open and close ended (Correct Alternative)

31U US &iel USS (Correct Alternative)

Question No. 6 / Question ID 636 Marks: 2.00
What does ‘ASAP’ stand for, in SMS language?
THUHTH U T "ASAP" &1 &1 37 § 72
(A) O As Silent As Probable (Chosen Option)
As Silent As Probable (Chosen Option)
(B) O As Simple As Possible
As Simple As Possible
(C) O As Soon As Probable
As Soon As Probable

(D) O As Soon As Possible (Correct Alternative)
As Soon As Possible (Correct Alternative)

Question No. 7 / Question ID 700 Marks: 2.00
Information like date of birth, permanent address form a part of one’s in the resume.

o fafYy, Tl gar SRft S frogm & feft & o1 few gt ]
(A) O Achievements
Iudferal

(B) O Personal details (Correct Alternative)
faazor (Correct Alternative)
(C) O AQualifications
g

(D) O Career objectives (Chosen Option)
& 352! (Chosen Option)

Question No. 8 / Question ID 651 Marks: 2.00
Which one is a web browser?

P Th 39 SR 87




(A) O Outlook express
I3CTD LRI
(B) O Internet explorer (Correct Alternative) (Chosen Option)
: (Correct Alternative) (Chosen Option)
(NQ) HV0t mail

(D) O Face book

Question No. 9 / Question ID 606 Marks: 2.00
Someone is treated differently on their skin colour, income
foHit &t T & T, 31T B ABR AT A6 J HaER [HAT S @.... |
(A) O unity
Uohdl
(B) O discrimination (Correct Alternative)
fave (Correct Alternative)
(C) O nature

(D) O correct (Chosen Option)
gl (Chosen Option)

Question No. 10 / Question ID 525 Marks: 2.00
When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use
STd 31T fR1ere, Uikiere a1 wided o I SIRSTRAT BT Mfiale HRd ©, al SHTad! Cal
SUIRT DT MY

(A) O Good morning (Correct Alternative) (Chosen Option)
Good morning (Correct Alternative) (Chosen Option)

(B) O Hey
Hey

(C) O Hi
Hi

(D) O Hello
Hello

Question No. 11 / Question ID 667 Marks: 2.00
As compared to small scale business, large scale business require
Y S DI a1 H, T8 YA TR TG DT STATDBAT® v
(A) O small machines and tools
B A=A SR IuHR0T
(B) O less no. of capital
&4 Guil i
(C) O less no. of persons
& ATl Bt
(D) O more no. of person (Correct Alternative) (Chosen Option)
3fere aafeaal ot (Correct Alternative) (Chosen Option)

Question No. 12 / Question ID 685 Marks: 2.00
What does 'A' in SMART stand for?
SMART & 'A' &1 T 3%f 72




(A) O Ambitious
Ambitious

(B) O Action (Chosen Option)
Action (Chosen Option)

(C) O Achievable (Correct Alternative)
Achievable (Correct Alternative)

(D) O Awareness
Awareness

Question No. 13 / Question ID 490 Marks: 2.00
Ethics means

BIREICAR N
(A) O employability skills

(B) O decide what is right and wrong for a human conduct (Correct Alternative) (Chosen Option)
TG B P AT SRRV & f%fl'{ T '\flﬁ % 3R T T (Correct Alternative) (Chosen Option)
(C) O not relevant to society
TSl ¥ Hafed 51 §
(D) © name of a city
T TR BT

Question No. 14 / Question ID 568 Marks: 2.00
Communication that involves exchanging information without use of words is called

HHIPIH FrGH Teal b IUANT 3 ST Gel 1 eF-Ue it 8, HEard o
(A) O written communication
e wwgfeRm
(B) O pictorial communication
eheINge HRHBRH
(C) O non verbal communication (Correct Alternative) (Chosen Option)

14 ada Wﬁﬁ?ﬂ:{ (Correct Alternative) (Chosen Option)

(D) O verbal communication

I HRDHA

Question No. 15/ Question ID 513 Marks: 2.00
Fill in the blank with proper interrogative adjective. are you going?
Gﬁaéﬂﬁﬁﬁaﬁﬁw$maﬁaawﬁ| are you going?

(A) O Who
Who

(B) © Which
Which

(C) O Where (Correct Alternative) (Chosen Option)
Where (Correct Alternative) (Chosen Option)

(D) O What
What

Question No. 16 / Question ID 567 Marks: 2.00
Choose the correct context of the given expression in group discussion. "Excuse me, | would
gq%mqﬁﬁuwﬁmﬁwa@wﬁg% "Excuse me, | would ?

(A) O Emphasizing a point
Emphasizing a point




(B) O Summarizing
Summarising

(C) O Agreeing
Agreeing

(D) O Interrupting (Correct Alternative) (Chosen Option)
Interrupting (Correct Alternative) (Chosen Option)

Question No. 17 / Question ID 537 Marks: 2.00
Word that is pronounced the same as another word but differs in meaning is called
I8 Teg off il GO e & GHM gIdl 7, Al orf H first g g, o Hel Sl 8

(A) ©O homophone (Correct Alternative)
(Correct Alternative)
(B) O diphthong (Chosen Option)
Y TR (Chosen Option)
(C) O syllable
RIEAR
(D) ©O homograph

Question No. 18 / Question ID 643 Marks: 2.00
What is the expansion of “FYI” SMS?
"FYI" THUHTY & fadR &1 572
(A) O For Your Innocence
For Your Innocence
(B) O For Your Identification
For Your Identification
(C) O For Your Internet (Chosen Option)
For Your Internet (Chosen Option)

(D) O For Your Information (Correct Alternative)
For Your Information (Correct Alternative)

Question No. 19 / Question ID 589 Marks: 2.00
Which one is considered to be a poor communication?
fPad! 3R HIYFHTH HHT ST 87
(A) O Message is ambiguous (Correct Alternative)

TSR 3P BT (Correct Alternative)
(B) O Sender is positive towards receiver (Chosen Option)
feftar & ufd Uve IHRIAS % Chosen Option)
(C) O Receiver is open to listen
fefler g & i R B
(D) O Message is clear and direct
TSR BT I 3R W g1

Question No. 20 / Question ID 639 Marks: 2.00
What is a shortcut key for “select all” command?
qoge A" HHS & [ U Yiche Pi (Hoit) T &2
(A) O Ctrl+V
Ctrl +V

(B) O Ctrl + A (Correct Alternative)
Ctrl + A (Correct Alternative)




(C)O Ctrl+C
Ctrl +C

(D) O Ctrl + X (Chosen Option)
Ctrl + X (Chosen Option)

Question No. 21 / Question ID 499 Marks: 2.00
Time management

(A) O hard skill
HIS BRI

(B) O managing time
PEUE RSt
(C) O problem solving

T D1 A
(D) O complete your task on time (Correct Alternative) (Chosen Option)
YT BT THT R T P (Correct Alternative) (Chosen Option)

Question No. 22 / Question ID 631 Marks: 2.00

Spread sheets are saved with extension

s gie
(A) O -

= SO THICYH & 1Y /9 foram (gom) ST g |
pdf (Chosen Option)

.pdf (Chosen Option)

(B) O

Xls (Correct Alternative)

Xls (Correct Alternative)

(€)O .

doc

.doc

(D) O -

mp3

.mp3

Question No. 23 / Question ID 661 Marks: 2.00
Which function key allows you to rename a file?

P Il TR ol 3TUD! bt BTEd BT A1 d&a B STAfT Sl 872
(A) O F4
F4
(B) O F2 (Correct Alternative)
F2 (Correct Alternative)
(C) O F1 (Chosen Option)
F1 (Chosen Option)

D)o F3
F3

Question No. 24 / Question ID 548 Marks: 2.00
Having a clear idea of our personality including strengths, weaknesses, thoughts, beliefs, motivation,
values etc is called

IR fda@ &1 WY [9aR @ &I didbd, HHenal, faary, fayrat, iRom, geat onfe afed &I
HET o1l 5
(A) O Belief (Chosen Option)
fayrg (Chosen Option)
(B) O Myth
oy




(C) O Self Awareness (Correct Alternative)
STH SIFRSh dT (Correct Alternative)
(D) O Threat

Question No. 25 / Question ID 505
Choose the correct response for the given question. “How have you been”?
fau 7T vy & fore Wl IR gMAUI “How have you been”?
(A) O Same to you
Same to you
(B) ©O Thank you_ And you?
Thank you_ And you?
(C) O Very well, And you? (Correct Alternative) (Chosen Option)
Very well, And you? (Correct Alternative) (Chosen Option)
(D) © On vacation_ And you?
On vacation_ And you?

Marks: 2.00




